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1
Which quadratic function has the largest maximum over the set of real numbers?

	1)
	[image: image1.png]Ax)=—x"+2x+4




	3)
	[image: image2.png](x-57+5






	2)
	[image: image3.png]k(x)
—1

-1

x
-1





	4)
	[image: image4.png]h(x)
9

x








2
Which quadratic function has the largest maximum?

	1)
	[image: image5.png]



	3)
	[image: image6.png]k(x) = -5x° - 12x+ 4





	2)
	[image: image7.png]



	4)
	[image: image8.png]






3
Which of the quadratic functions below has the smallest minimum value?

	1)
	[image: image9.png]h(x) = x° + 2x— 6




	3)
	[image: image10.png]




	2)
	[image: image11.png]9(x)

(2)





	4)
	[image: image12.png]f0x)

X








4
Which quadratic function has the smallest minimum value?

	1)
	[image: image13.png]Ax) = 6x° + 5x- 2




	3)
	[image: image14.png]o(x) = 6(x-2)* -





	2)
	[image: image15.png]h(x)

x





	4)
	[image: image16.png]ix)
4

=








5
The quadratic functions [image: image17.png]r(x)



 and [image: image18.png]3 (x)



 are given below.

	x
	r(x)

	[image: image19.png]



	[image: image20.png]-12





	[image: image21.png]



	[image: image22.png]-15





	[image: image23.png]



	[image: image24.png]-16





	[image: image25.png]



	[image: image26.png]-15





	0
	[image: image27.png]-12





	1
	7


[image: image28.png]g(x) = x° + 2x- 8




The function with the smaller minimum value is

	1)
	[image: image29.png]3 (x)



, and the value is [image: image30.png]



	3)
	[image: image31.png]r(x)



, and the value is [image: image32.png]-16





	2)
	[image: image33.png]3 (x)



, and the value is [image: image34.png]



	4)
	[image: image35.png]r(x)



, and the value is [image: image36.png]






6
Four quadratic functions are shown below.

[image: image37.png]1(x)





[image: image38.png](x-4)7+5




                                      [image: image39.png]1
](x):*zxz+x+4




Which statement is true?

	1)
	The maximum of f(x) is less than the maximum of j(x).
	3)
	The maximum of f(x) equals the maximum of g(x).

	2)
	The maximum of g(x) is less than the maximum of h(x).
	4)
	The maximum of h(x) equals the maximum of j(x).



7
Three quadratic functions are given below.

I.

[image: image40.png]Ax)=(x+2)%+5




    II.


	x
	[image: image41.png]



	[image: image42.png]



	[image: image43.png]



	[image: image44.png]



	0
	1

	g(x)
	[image: image45.png]



	2
	5
	5
	2
	[image: image46.png]





III.

[image: image47.png]h(x)
A

>x




Which of these functions have the same vertex?

	1)
	I and II, only
	3)
	I and III, only

	2)
	II and III, only
	4)
	I, II, and III



8
Which statement is true about the quadratic functions [image: image48.png]a(x)



, shown in the table below, and [image: image49.png]-2




?

	x
	g(x)

	0
	4

	1
	[image: image50.png]




	2
	[image: image51.png]




	3
	[image: image52.png]




	4
	[image: image53.png]




	5
	[image: image54.png]




	6
	4


	1)
	They have the same vertex.
	3)
	They have the same axis of symmetry.

	2)
	They have the same zeros.
	4)
	They intersect at two points.



9
Which statement is true about the functions [image: image55.png]


 and [image: image56.png]a(x)



, given below?

[image: image57.png]> <

9(x)

>X




[image: image58.png]



	1)
	The minimum value of [image: image59.png]a(x)



 is greater than the maximum value of [image: image60.png]


.
	3)
	[image: image61.png]


 and [image: image62.png]a(x)



 have the same roots.

	2)
	[image: image63.png]


 and [image: image64.png]a(x)



 have the same y-intercept.
	4)
	[image: image65.png]Az = g(x)



 when [image: image66.png]


.
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Given the following quadratic functions:

[image: image67.png]



and

	x
	[image: image68.png]



	[image: image69.png]



	[image: image70.png]



	0
	1
	2
	3
	4
	5

	n(x)
	[image: image71.png]



	0
	5
	8
	9
	8
	5
	0
	[image: image72.png]





Which statement about these functions is true?

	1)
	Over the interval [image: image73.png]


, the average rate of change for [image: image74.png]2(x)



 is less than that for [image: image75.png]a(x)



.
	3)
	The function [image: image76.png]a(x)



 has a greater maximum value than [image: image77.png]2(x)



.

	2)
	The y-intercept of [image: image78.png]a(x)



 is greater than the y-intercept for [image: image79.png]2(x)



.
	4)
	The sum of the roots of [image: image80.png]


 is greater than the sum of the roots of [image: image81.png]


.
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Let f  be the function represented by the graph below.

[image: image82.png]





Let g be a function such that [image: image83.png]1
g(x):*ixz+4x+3



.  Determine which function has the larger maximum value.  Justify your answer.


1
ANS:
2

1)  [image: image84.png]122y +4=5
vertex (1, 5)




;  2)  [image: image85.png]


  Using [image: image86.png]


, [image: image87.png]


;  Using [image: image88.png]


, [image: image89.png]


  [image: image90.png]


  [image: image91.png]


;  3)  vertex [image: image92.png]


;  4)  Using [image: image93.png]


  [image: image94.png]—9=(-2%a+(-Db+1
-10=4a-2b




  [image: image95.png]~3= (1% + ()b +1
~I=a-b+1




  [image: image96.png]2a+5=a+4




  [image: image97.png]


  vertex [image: image98.png]



REF:
011823ai

2
ANS:
3

[image: image99.png]p(x) = -2+ 746




Maximum of [image: image100.png]


  [image: image101.png]


  Maximum of [image: image102.png]g(x) <5




REF:
061514ai

3
ANS:
2

1) [image: image103.png]


, [image: image104.png]h(-1) = (-1)% + 2(-1) -




; 2) [image: image105.png]


; 3) [image: image106.png](354 5)(-35+2)=-225




; 4) [image: image107.png]



REF:
061813ai

4
ANS:
1

1) [image: image108.png]5
f(z(ﬁ)]N T



; 2) [image: image109.png]R(2.5)=(25-2)(2.5-3)=-0.25



; 3) [image: image110.png]


; 4) 0
REF:
012320ai

5
ANS:
3

The minimum of [image: image111.png]r(x)



 is [image: image112.png]-16



.  The minimum of [image: image113.png]3 (x)



 is [image: image114.png]


 [image: image115.png]


.
REF:
081917ai

6
ANS:
3

Maximum of [image: image116.png]


  Maximum of [image: image117.png]


  Maximum of [image: image118.png]


 [image: image119.png]1
](x):*zxz+x+4

1
](1):7E(I)Z+1+4:4%




REF:
062219ai

7
ANS:
3

f and h’s vertex is [image: image120.png]


.  g’s axis of symmetry is [image: image121.png]


.
REF:
062319ai

8
ANS:
3

[image: image122.png]



REF:
061717ai

9
ANS:
2

The y-intercept of both [image: image123.png]


 and [image: image124.png]a(x)



 is [image: image125.png]


.
REF:
012013ai

10
ANS:
4

1) [image: image126.png]g gl
T=-1

n()- 1)
e




  2) [image: image127.png]


  3) [image: image128.png]



4) [image: image129.png]



REF:
081521ai

11
ANS:


g.  The maximum of f  is 6.  For g, the maximum is 11.  [image: image130.png]



REF:
081429ai
